1
1
31 (Objective Function)
= f(kw,,kw, , TON|TON2)
NN e (32)
ITON
kw, =f(TON LE1) kw, TON, £1
32)
kW, —a, + a2(TOND) + a3(£1)+ a4(TOND)2 ... — (32
ha 243 [GAUSSIAN]
kw2= f(TON2,£2) KW, TON2  £2
33)
kw, = 1+ b2(TON2)+ b3(£2)+ 4(TON2)2 ~ -eeeme- (33)
2,3 4 [GAUSSIAN]
Chiller (34 (35
A A
Chiller 1 = 34
VTON,y
(
Chiller 2 . 35

2=
VTON2J
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32 (Constraints)
321

7 B
2 1°C
P 3’
2 T1°C
322
ITON 1= TON (3.0)
-
0< TON1<220 tons (3.78)
0<TON2<200 tons (3.70)
323
SKW.=kW (38)
100< kW < 1710 kv (3.9)
120<kW2<178 KW (3.90)
324
%LOADL =40% + (0.25*1) ; i=123,.80 - (3.10a)
%LOAD2= (100- %LOADL)% e (31Cn)
1 1
- 2
KW
kW, : 1
kw2: 2
TON :
TON, : 1
TON: :



E

E2.
%LOAD1:
%LOAD? :
33 (Optimization)
31
(31) (3.11)
)
(%)
(310a)  (3.10h)
) %LOAD1 %LOAD?2
1(TON,) 2(TON2
) TON,  TON: ()
E) (22
32 (33
) kw, , TON, , kw: TON,
2
) () ()
%L0AD1 %LOAD2

%LOAD

()

()

%
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